
PLANOS









CONDUCTOS H = 1m

φ 8 c/ 10     φ 8 c/ 15     φ 8 c/ 20    φ 8 c/ 20    φ 8 c/ 30    φ 8 c/ 30    

L = 1.24 L = 1.24 L = 1.24 L = 2.56 L =0.42 L = 1.00

φ 8 c/ 11    φ 8 c/ 11    φ 8 c/ 20    φ 8 c/ 16    φ 8 c/ 30    φ 8 c/ 30    

L = 1.49 L = 1.49 L = 1.24 L = 2.56 L =0.42 L = 1.00

φ 10 c/ 10   φ 8 c/ 9     φ 8 c/ 20    φ 8 c/ 12    φ 8 c/ 30    φ 8 c/ 30    

L = 1.74 L = 1.74 L = 1.24 L = 2.56 L =0.42 L = 1.00

φ 8 c/ 7     φ 8 c/ 10    φ 8 c/ 16    φ 8 c/ 11    φ 8 c/ 30    φ 8 c/ 30    

L = 2.05 L = 2.05 L = 1.30 L = 2.74 L = 0.505 L = 1.00

φ 10 c/ 9    φ 8 c/ 9     φ 8 c/ 16    φ 8 c/ 9      φ 8 c/ 30    φ 8 c/ 30    

L = 2.30 L = 2.30 L = 1.30 L = 2.74 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 16    φ 8 c/ 8      φ 8 c/ 30    φ 8 c/ 30    

L = 2.55 L = 2.55 L = 1.30 L = 2.74 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 14    φ 10 c/ 12   φ 8 c/ 30    φ 8 c/ 30    

L = 2.86 L = 2.86 L = 1.36 L = 3.08 L =0.59 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 14    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.11 L = 3.11 L = 1.36 L = 3.08 L =0.59 L = 1.00

φ 12 c/ 10   φ 12 c/ 10   φ 8 c/ 14    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 3.36 L = 3.36 L = 1.36 L = 3.08 L =0.59 L = 1.00

φ 12 c/ 10   φ 12 c/ 10   φ 8 c/ 12    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 3.67 L = 3.67 L = 1.42 L = 3.26 L =0.675 L = 1.00

φ 12 c/ 10   φ 12 c/ 10   φ 8 c/ 12    φ 10 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 3.92 L = 3.92 L = 1.42 L = 3.26 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 4.17 L = 4.17 L = 1.42 L = 3.26 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 10    φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 4.48 L = 4.48 L = 1.48 L = 3.60 L = 0.76 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 10    φ 12 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 4.73 L = 4.73 L = 1.48 L = 3.60 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 4.98 L = 4.98 L = 1.48 L = 3.60 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 5.29 L = 5.29 L = 1.54 L = 3.78 L =0.845 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 7    φ 8 c/ 30    φ 8 c/ 30    

L = 5.54 L = 5.54 L = 1.54 L = 3.78 L =0.845 L = 1.00

0.00 - 2.00

0.00 - 2.00

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.00

0.00 - 3.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.50

0.00 - 4.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

Tapadas       
admisibles (m)

s/ limite

s/ limite

0.00 - 7.50

Peso  
Total  (tn)b h e

DIMENSIONES Volumen de
Hº  m³/m       5

φ12 mm.
Long. (tn)

φ12 mm.
Peso (tn)

φ10 mm.
Peso (tn)

φ10 mm.
Long. (m)

φ8 mm.
Peso (tn)

1.00 0.15

1.25

1.50

1.00

φ8 mm.
Long. (m)

1.00

ARMADURA
21 3 4

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.75

2.00

2.25

2.50

2.75

3.00

3.25

3.50

3.75

4.00

4.25

4.50

4.75

5.00

0.710

0.785

0.860

1.140

1.230

1.320

1.666

1.771

1.876

2.290

2.410

2.530

3.012

3.147

3.282

3.830

3.980

0.03383.08

91.88 0.037

133.88 0.054

90.8 0.036

92.08 0.037 19.14

0.033

0.037

0.012 0.049

0.054

115.66 0.046 27.6 0.017 0.063

0.079

60.32 0.024 104.94 0.065 0.089

68.85 0.043

62.32 0.025 114.77 0.071 0.096

64.32 0.026 36.96 0.023 73.92 0.066 0.114

67.58 0.027 39.12 0.024 80.74 0.072 0.123

71.58 0.029 42.38 0.026 86.24 0.077 0.132

73.58 0.029 42.38 0.026 100.08 0.089 0.145

78.44 0.031 138.16 0.123 0.154

80.44 0.032 160.32 0.143 0.175

84.44 0.034 181.26 0.161 0.195

88 0.035 191.97 0.171 0.206

90 0.036 206.28 0.184 0.220

0.15

0.15

6

0.18

0.18

0.18

0.21

0.21

0.21

0.24

0.24

0.24

0.30

0.27

0.27

0.27

0.30



CONDUCTOS H = 1.25m

φ 10 c/ 12   φ 8 c/ 10    φ 8 c/ 20    φ 8 c/ 17    φ 8 c/ 30    φ 8 c/ 30    

L = 1.49 L = 1.49 L = 1.49 L = 2.81 L =0.42 L = 1.00

φ 10 c/ 9    φ 10 c/ 13   φ 8 c/ 20    φ 8 c/ 14    φ 8 c/ 30    φ 8 c/ 30    

L = 1.74 L = 1.74 L = 1.49 L = 2.81 L =0.42 L = 1.00

φ 10 c/ 10   φ 10 c/ 14   φ 8 c/ 16    φ 8 c/ 11    φ 8 c/ 30    φ 8 c/ 30    

L = 2.05 L = 2.05 L = 1.55 L = 2.99 L = 0.505 L = 1.00

φ 10 c/ 9    φ 10 c/ 13   φ 8 c/ 16    φ 8 c/ 10     φ 8 c/ 30    φ 8 c/ 30    

L = 2.30 L = 2.30 L = 1.55 L = 2.99 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 16    φ 8 c/ 8      φ 8 c/ 30    φ 8 c/ 30    

L = 2.55 L = 2.55 L = 1.55 L = 2.99 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 14    φ 10 c/ 12   φ 8 c/ 30    φ 8 c/ 30    

L = 2.86 L = 2.86 L = 1.61 L = 3.33 L =0.59 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 14    φ 10 c/ 11   φ 8 c/ 30    φ 8 c/ 30    

L = 3.11 L = 3.11 L = 1.61 L = 3.33 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 14    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.36 L = 3.36 L = 1.61 L = 3.33 L =0.59 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 12    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 3.67 L = 3.67 L = 1.67 L = 3.51 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 12 c/ 13   φ 8 c/ 30    φ 8 c/ 30    

L = 3.92 L = 3.92 L = 1.67 L = 3.51 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 12 c/ 11   φ 8 c/ 30    φ 8 c/ 30    

L = 4.17 L = 4.17 L = 1.67 L = 3.51 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 10    φ 12 c/ 11   φ 8 c/ 30    φ 8 c/ 30    

L = 4.48 L = 4.48 L = 1.73 L = 3.85 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 4.73 L = 4.73 L = 1.73 L = 3.85 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 4.98 L = 4.98 L = 1.73 L = 3.85 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 5.29 L = 5.29 L = 1.79 L = 4.03 L =0.845 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 5.54 L = 5.54 L = 1.79 L = 4.03 L =0.845 L = 1.00

0.00 - 2.00

0.00 - 2.00

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.00

0.00 - 3.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.50

0.00 - 4.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

Tapadas       
admisibles (m)

s/ limite

0.00 - 7.50

Peso  
Total  (tn)

0.050

b h e
DIMENSIONES Volumen de

Hº  m³/m       5
φ12 mm.
Long. (tn)

φ12 mm.
Peso (tn)

φ10 mm.
Peso (tn)

φ10 mm.
Long. (m)

φ8 mm.
Peso (tn)

1.25

1.50

1.25

φ8 mm.
Long. (m)

ARMADURA
21 3 4

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.25

1.75

2.00

2.25

2.50

2.75

3.00

3.25

3.50

3.75

4.00

4.25

4.50

4.75

5.00

0.845

0.920

1.215

1.305

1.410

1.756

1.861

1.966

4.115

2.395

2.515

2.635

3.132

0.038

64.32 0.026

73.83 0.030

3.267

3.402

3.965

95.8

38.95

81.72 0.033

82.83

13.41

68.14 0.027 36.54

0.033

0.008 0.041

0.023

0.057

87.82 0.035 48.30 0.030 0.065

0.024

0.081

62.32 0.025 107.19 0.066 0.091

68.85 0.043

123.49 0.077 0.102

66.32 0.027 36.63 0.023 80.64 0.072 0.121

0.122

75.83 0.030 125.67 0.112 0.142

148.55 0.092

77.83 0.031 135.18 0.120 0.151

81.19 0.032 146.02 0.130 0.162

83.19 0.033 170.06 0.151 0.185

85.19 0.034 180.66 0.161 0.195

89 0.036 195.22 0.174 0.209

91 0.036 201.97 0.180 0.216

0.15

0.15

6

0.18

0.18

0.18

0.21

0.21

0.21

0.24

0.24

0.24

0.30

0.27

0.27

0.27

0.30



CONDUCTOS H = 1.5m

φ 10 c/ 9    φ 8 c/ 8     φ 8 c/ 20    φ 8 c/ 14    φ 8 c/ 30    φ 8 c/ 30    

L = 1.74 L = 1.74 L = 1.74 L = 3.06 L =0.42 L = 1.00

φ 10 c/ 10   φ 10 c/ 13   φ 8 c/ 16    φ 8 c/ 12    φ 8 c/ 30    φ 8 c/ 30    

L = 2.05 L = 2.05 L = 1.80 L = 3.24 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 16    φ 8 c/ 10    φ 8 c/ 30    φ 8 c/ 30    

L = 2.30 L = 2.30 L = 1.80 L = 3.24 L = 0.505 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 16    φ 8 c/ 9     φ 8 c/ 30    φ 8 c/ 30    

L = 2.55 L = 2.55 L = 1.80 L = 3.24 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 14    φ 10 c/ 13   φ 8 c/ 30    φ 8 c/ 30    

L = 2.86 L = 2.86 L = 1.86 L = 3.58 L =0.59 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 14    φ 10 c/ 12   φ 8 c/ 30    φ 8 c/ 30    

L = 3.11 L = 3.11 L = 1.86 L = 3.58 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 14    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.36 L = 3.36 L = 1.86 L = 3.58 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.67 L = 3.67 L = 1.92 L = 3.76 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 3.92 L = 3.92 L = 1.92 L = 3.76 L =0.675 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 12    φ 10 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 4.17 L = 4.17 L = 1.92 L = 3.76 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 10    φ 12 c/ 11   φ 8 c/ 30    φ 8 c/ 30    

L = 4.48 L = 4.48 L = 1.98 L =4.10 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 4.73 L = 4.73 L = 1.98 L =4.10 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 4.98 L = 4.98 L = 1.98 L =4.10 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 5.29 L = 5.29 L = 2.04 L = 4.28 L =0.845 L = 1.00

φ 12 c/ 7    φ 12 c/ 7    φ 8 c/ 9     φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 5.54 L = 5.54 L = 2.04 L = 4.28 L =0.845 L = 1.00

0.24

0.24

0.24

0.30

0.27

0.27

0.27

0.30

217.56 0.194 0.232

0.15

0.18

0.18

0.18

0.21

0.21

0.21

96 0.038

179.56 0.160 0.197

96 0.038 194.19 0.173 0.211

91.94 0.037

148.52 0.132 0.168

89.94 0.036 172.81 0.154 0.190

89.94 0.036

0.145

84.08 0.034 48.88 0.030 112.59 0.100 0.164

0.033 45.12 0.028 94.08

0.0720.024 80.64

0.084

0.127

82.08 0.033 41.36 0.026 88.08 0.078 0.137

0.031 39.38

0.097

76.50 0.047

76.32 0.031 125.52 0.078 0.108

109.44 0.068

62.10 0.039

0.013

0.0620.025

0.055

0.079

0.090

0.042 20.88

41.0091.84 0.037

3.402

3.537

4.115

105.56

2.515

2.635

2.755

3.267

76.32

82.08

0.042

100.32 0.040

72.32 0.029

4.75

5.00

0.995

1.305

1.395

1.500

1.861

1.966

2.071

4.265

3.75

4.00

4.25

4.50

1.50

1.50

1.75

2.00

2.25

2.50

2.75

3.00

3.25

3.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

1.50

φ8 mm.
Long. (m)

ARMADURA
21 3 4

1.50 104.26

6
φ12 mm.
Peso (tn)

φ10 mm.
Peso (tn)

φ10 mm.
Long. (m)

φ8 mm.
Peso (tn)

Tapadas       
admisibles (m)

0.00 - 7.50

Peso  
Total  (tn)b h e

DIMENSIONES Volumen de
Hº  m³/m       5

φ12 mm.
Long. (tn)

0.00 - 4.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.00



CONDUCTOS H = 1.75m

φ 10 c/ 9    φ 10 c/ 9    φ 8 c/ 16    φ 8 c/ 13    φ 8 c/ 30    φ 8 c/ 30    

L = 2.05 L = 2.05 L = 2.05 L = 3.49 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 16    φ 8 c/ 11    φ 8 c/ 30    φ 8 c/ 30    

L = 2.30 L = 2.30 L = 2.05 L = 3.49 L = 0.505 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 16    φ 8 c/ 9     φ 8 c/ 30    φ 8 c/ 30    

L = 2.55 L = 2.55 L = 2.05 L = 3.49 L = 0.505 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 14    φ 10 c/ 14   φ 8 c/ 30    φ 8 c/ 30    

L = 2.86 L = 2.86 L = 2.11 L = 3.83 L =0.59 L = 1.00

φ 12 c/ 10   φ 12 c/ 10   φ 8 c/ 14    φ 10 c/ 12   φ 8 c/ 30    φ 8 c/ 30    

L = 3.11 L = 3.11 L = 2.11 L = 3.83 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 14    φ 10 c/ 11 φ 8 c/ 30    φ 8 c/ 30    

L = 3.36 L = 3.36 L = 2.11 L = 3.83 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.67 L = 3.67 L = 2.17 L = 4.01 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 3.92 L = 3.92 L = 2.17 L = 4.01 L =0.675 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 12    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 4.17 L = 4.17 L = 2.17 L = 4.01 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 10    φ 10 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 4.48 L = 4.48 L = 2.23 L =4.35 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 11   φ 8 c/ 30    φ 8 c/ 30    

L = 4.73 L = 4.73 L = 2.23 L =4.35 L = 0.76 L = 1.00

φ 12 c/ 7    φ 12 c/ 7    φ 8 c/ 10    φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 4.98 L = 4.98 L = 2.23 L =4.35 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 5.29 L = 5.29 L = 2.29 L = 4.53 L =0.845 L = 1.00

φ 12 c/ 7    φ 12 c/ 7    φ 8 c/ 9     φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 5.54 L = 5.54 L = 2.29 L = 4.53 L =0.845 L = 1.00

0.24

0.24

0.30

0.27

0.27

0.27

0.30

0.245 0.305

0.18

0.18

0.18

0.21

0.21

0.21

150.48

0.24

0.060

245.10.055

274.92

0.218 0.273

148.48 0.059 242.49 0.216 0.275

137.22

0.096 0.224

135.22 0.054 214.71 0.191 0.245

0.053

0.190

112.59 0.100 0.2070.060

121.80 0.076 107.52

96.24

117.86 0.047 96.24

0.060 94.08

0.0720.047 80.64

0.084

0.161

113.86 0.046 88.82 0.055 88.08 0.078 0.179

0.042 76.60

0.131

76.50 0.047

101.2 0.040 68.94 0.043 68.42 0.061 0.144

0.039

147.08 0.091

0.102

0.123

49.20149.6 0.060

62.10

0.0900.031

3.537

0.075

158.58 0.063

0.040

0.046

4.265

188.5

2.635

2.755

2.875

3.402

105.2

115.86

99.2

133.22

5.00

1.395

1.485

1.590

1.966

2.071

2.176

4.415

3.75

3.672

4.00

4.25

4.50

1.75

1.75

1.75

1.75

4.75

1.75

1.75

2.00

2.25

2.50

2.75

3.00

3.25

3.50

1.75

1.75

1.75

1.75

1.75

1.75

1.75

1.75

1.75

ARMADURA
21 3 4 6

φ10 mm.
Peso (tn)

φ10 mm.
Long. (m)

φ8 mm.
Peso (tn)

φ8 mm.
Long. (m)

Tapadas       
admisibles (m)

Peso  
Total  (tn)b h e

DIMENSIONES Volumen de
Hº  m³/m       5

φ12 mm.
Long. (tn)

φ12 mm.
Peso (tn)

0.00 - 4.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.00



CONDUCTOS H = 2m

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 16    φ 8 c/ 10    φ 8 c/ 30    φ 8 c/ 30    

L = 2.30 L = 2.30 L = 2.30 L = 3.74 L = 0.505 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 16    φ 8 c/ 9     φ 8 c/ 30    φ 8 c/ 30    

L = 2.55 L = 2.55 L = 2.30 L = 3.74 L = 0.505 L = 1.00

φ 10 c/ 8    φ 10 c/ 8    φ 8 c/ 14    φ 10 c/ 13   φ 8 c/ 30    φ 8 c/ 30    

L = 2.86 L = 2.86 L =2.36 L = 4.08 L =0.59 L = 1.00

φ 10 c/ 7    φ 10 c/ 7    φ 8 c/ 14    φ 10 c/ 12   φ 8 c/ 30    φ 8 c/ 30    

L = 3.11 L = 3.11 L =2.36 L = 4.08 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 14    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.36 L = 3.36 L =2.36 L = 4.08 L =0.59 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 3.67 L = 3.67 L = 2.42 L = 4.26 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 12    φ 10 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 3.92 L = 3.92 L = 2.42 L = 4.26 L =0.675 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 12    φ 10 c/ 8    φ 8 c/ 30    φ 8 c/ 30    

L = 4.17 L = 4.17 L = 2.42 L = 4.26 L =0.675 L = 1.00

φ 12 c/ 9    φ 12 c/ 9    φ 8 c/ 10    φ 12 c/ 11   φ 8 c/ 30    φ 8 c/ 30    

L = 4.48 L = 4.48 L = 2.48 L =4.60 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 4.73 L = 4.73 L = 2.48 L =4.60 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 10    φ 12 c/ 10   φ 8 c/ 30    φ 8 c/ 30    

L = 4.98 L = 4.98 L = 2.48 L =4.60 L = 0.76 L = 1.00

φ 12 c/ 8    φ 12 c/ 8    φ 8 c/ 9     φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 5.29 L = 5.29 L = 2.54 L = 4.78 L =0.845 L = 1.00

φ 12 c/ 7    φ 12 c/ 7    φ 8 c/ 9     φ 12 c/ 9    φ 8 c/ 30    φ 8 c/ 30    

L = 5.54 L = 5.54 L = 2.54 L = 4.78 L =0.845 L = 1.00 0.00 - 2.00

0.00 - 2.50

0.00 - 2.00

0.00 - 2.00

0.00 - 2.00

0.00 - 2.50

0.00 - 2.50

0.00 - 2.50

0.00 - 2.00

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

0.00 - 3.50

Tapadas       
admisibles (m)

Peso  
Total  (tn)b h e

DIMENSIONES Volumen de
Hº  m³/m       5

φ12 mm.
Long. (tn)

φ12 mm.
Peso (tn)

φ10 mm.
Peso (tn)

φ10 mm.
Long. (m)

φ8 mm.
Peso (tn)

2.00 180.56 0.072

2.00

2.00

φ8 mm.
Long. (m)

ARMADURA
21 3 4 6

1.575

2.00

2.00

2.00

2.00

2.00

2.00

2.00

3.00

3.25

3.50

2.00

2.00

2.25

2.50

2.75

4.25

4.50

2.00

2.00

4.75

5.00

1.680

2.071

2.176

2.281

4.565

3.75

4.00

0.076

109.2 0.044

3.672

3.807

4.415

190.04

2.755

2.875

2.995

3.537

113.2

126.36

150.66 0.093

102.24 0.063

0.111

0.123

62.10 0.039

0.137

76.50 0.047

111.2 0.044 166.74 0.103 0.148

0.173

124.36 0.050 93.72 0.058 88.08 0.078 0.186

0.045 89.76 0.0720.056 80.64

0.084 0.198

128.36 0.051 119.28 0.074 112.59 0.100 0.226

0.051 94.08

142.72 0.057 199.52 0.178 0.235

144.72 0.058 228.91 0.204 0.262

0.268

156.48 0.063 257.55 0.229 0.292

146.72 0.059 235.66 0.210

280.92 0.250 0.313

0.18

0.18

0.21

0.21

0.21

158.48 0.063

0.24

0.24

0.24

0.30

0.27

0.27

0.27

0.30
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